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Answers: Year 3 Textbook 3	 Pages 4–13
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1.	 487 + 5 = 492
2.	 375 + 9 = 384
3.	 283 + 6 = 289
4.	 726 + 8 = 734
5.	 577 + 7 = 584
6.	 683 + 4 = 687
7.	 848 + 5 = 853
8.	 239 + 7 = 246
9.	 418 + 9 = 427 
10.	 476 + 7 = 483 
11.	 855 + 6 = 891 
12.	 943 + 8 = 951
Think. Any 3-digit + 1-digit 
calculation which uses the number 
fact 6 + 3 = 9.
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1.	 118 – 5 = 113
2.	 307 – 5 = 302
3.	 485 – 5 = 480
4.	 624 – 5 = 619
5.	 182 – 5 = 177
6.	 741 – 5 = 736
7.	 589 – 7 = 582
8.	 467 – 7 = 460
9.	 250 – 7 = 243
10.	 862 – 7 = 855
11.	 311 – 7 = 304
12.	 253 – 7 = 246
13.	 589 – 9 = 580
14.	 367 – 9 = 358
15.	 724 – 9 = 715
16.	 211 – 9 = 202
17.	 785 – 9 = 776
18.	 324 – 9 = 315
19.	 308 – 9 = 299
20.	 702 – 9 = 693
21.	 401 – 9 = 392
Think. To subtract 9 you can 
subtract 10 and then add 1.
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1.	 183 + 5 = 188
2.	 245 – 4 = 241
3.	 357 + 2 = 359
4.	 378 – 6 = 372
5.	 481 + 8 = 489
6.	 437 – 5 = 432
7.	 422 + 7 = 429
8.	 529 – 8 = 521
9.	 587 – 7 = 580
10.	 566 + 4 = 570
11.	 677 – 8 = 669
12.	 619 + 5 = 624
13.	 777 – 9 = 768
14.	 796 + 5 = 801

15.	 884 – 9 = 875
16.	 997 + 8 = 1005
Think. To add 9 you can add 10 
and then subtract 1. To subtract 9 
you can subtract 10 and then add 1.
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1.	 645 + 30 = 675
2.	 433 + 60 = 493
3.	 217 + 80 = 297
4.	 853 + 40 = 893
5.	 782 + 50 = 832
6.	 674 + 70 = 744
7.	 295 – 50 = 245
8.	 883 – 70 = 813
9.	 261 – 60 = 201
10.	 794 – 30 = 764
11.	 225 – 30 = 195
12.	 342 – 80 = 262
Think. Answers will vary, but 
should use the same digits for the 
H in  45 and the T in  0
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1.	 827 + 30 = 857
2.	 863 – 40 = 823
3.	 747 + 80 = 827
4.	 634 – 70 = 564
5.	 882 + 50 = 932
6.	 215 – 50 = 165
7.	 543 + 60 = 603
8.	 361 – 80 = 281
9.	 653 + 70 = 723
10.	 666 – 90 = 576
11.	 194
Think. 565 + 50 = 615, 676 + 60 = 
736, 787 + 70 = 857, 898 + 80 = 
978. Each 10s digit in the addition 
is 1 greater than in the previous 
addition. The 10s digit in each 
answer is 2 more than in the 
previous answer. Each answer is 
21 more than the previous answer. 
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1.	 £518
2.	 287
3.	 624
4.	 9 packs (85 napkins)
Think. 456 + 60 = 516, 567 + 70 = 
637… The 10s digit is always odd. 
The 1s digits go up in ones. Other 
answers will vary. 
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1.	 1

3 , 2
3 , 3

3

2.	 1
5 , 2

5 , 4
5

3.	 1
6 , 2

6 , 3
6

4.	 1
8 , 5

8 , 6
8

5.	 1
4 , 2

4 , 3
4  

6.	 3
10, 5

10, 9
10

Think. 2
4 , 3

6  and 5
10 are all equal to 

1
2 . 3

3  is equal to one whole.
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1.	 1

8 , 3
8 , 4

8 , 7
8

2.	 1
10, 5

10, 7
10, 9

10

3.	 1
5 , 2

5 , 3
5 , 4

5

4.	 1
7 , 2

7 , 5
7 , 6

7

5.	 1
9 , 2

9 , 4
9, 8

9

6.	 1
6 , 3

6 , 5
6 , 6

6

7.	 4
8 , 5

10, 3
6

8.	 6
6

9.	 1
10, 1

2 , 7
10, 9

10

Think. 3
10 < 1

2  < 7
10. Any similar 

fraction comparison sentence.
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1.	 1

5 , 3
5 , 4

5 , 5
5

2.	 1
7 , 3

7 , 5
7 , 6

7

3.	 1
6 , 2

6 , 1
2 , 5

6

4.	 1
10, 4

10, 1
2 , 9

10

5.	 1
6 , 1

2 , 4
6 , 5

6

6.	 1
8 , 1

4 , 3
8 , 7

8

7.	 1
2  = 3

6  = 5
10  

8.	 5
5

Think. 3
8  < 2

4  < 8
10 or 3

8  < 3
4  < 8

10
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1.	 6 × 2 = 12
2.	 9 × 2 = 18
3.	 25 × 2 = 50
4.	 20 × 2 = 40
5.	 100 × 2 = 200
6.	 4 × 2 = 8, 8 ÷ 2 = 4
7.	 50 × 2 = 100, 100 ÷ 2 = 4
8.	 7 × 2 = 14, 14 ÷ 2 = 7
9.	 15 × 2 = 30, 3- ÷ 2 = 15
10.	 5 × 3 = 15
11.	 8 × 3 = 24
12.	 4 × 3 = 12
13.	 7 × 3 = 21
14.	 9 × 3 = 27
15.	 10 × 3 = 30, 30 ÷ 3 = 10
16.	 3 × 3 = 9, 9 ÷ 3 = 3
17.	 7 × 3 = 21, 21 ÷ 3 = 7
18.	 8 × 3 = 24, 24 ÷ 3 = 8
19.	 4 × 4 = 16
20.	 8 × 4 = 32
21.	 7 × 4 = 28
22.	 9 × 4 = 36
23.	 6 × 4 = 24
24.	 3 × 4 = 12, 12 ÷ 4 = 3
25.	 5 × 4 = 20, 20 ÷ 4 = 5
26.	 10 × 4 = 40, 40 ÷ 4 = 10
27.	 11 × 4 = 44, 44 ÷ 4 = 11


